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1. An individual possesses L units of labor and K units of capital and uses these two factors in
production to produce the two commodities X, and X, . The unit labor requirements for producing

one unit of X, and one unitof X, are denotedby a; and a’, respectively, which are assumed to
be constant in production, while the constant unit capital requirements for producing one unit of X,
and one unit of X, are denoted by ay and aZ, respectively. It is assumed that the respective
production possibility curves corresponding to the factor endowments L and K in the XX,
plane intersect with a, /a; >a; /a’. The preference of the individual can be represented by
U(X,X,)=X,X,. Let p, and p, represent the market prices of X, and X,, respectively,
which are assumed to be constant with the individual as a price taker. Show graphically and verbally
the revenue-maximizing output combination and the utility-maximizing consumption combination for
p,/ p,>ay /a; inthe XX, planewith X, represented along the horizontal axis. (25 %)

2. Suppose a government attempts to undertake an increase in government spending by requesting the
central bank to purchase the government bonds issued to finance the spending increase. In the
IS-LM framework, discuss verbally and graphically the effects of the expansionary policy on the
equilibrium income as money demand is completely insensitive to changes in the interest rate. (25 %)
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